One-On-One™ Direct Replacement Motors

Hill Refrigeration Inter City

ONE-ON-ONE

MARS MFG. RPM/ DIMENSIONS MARS MFG. ] DIMENSIONS
NO. NO. HPVOLTS ‘oo’ ROTAMPS ™= >0 oo o HP vors RO RoT Awps DIONS
';! 03067 5KCPIPGCA10S 1 S 10751 S0 29 7.0 330 - AMT3 - 118 115 34501 CCW 080 - - -
V.
5.5 inch diam., open 3 inch resilient base included, ball bearing, 15 MFD ; ;
@ 370V capaditor required (MARS No. 12010), shaft length 6 1/2 inch 33 nch, PSC, ball bearing
Replaces: Hill No. PP19162G, 5KCP39PGC030S, . 7069.
A0, SMITH OFR 1106 =genteq Replaces: 7062-4578, 1011350 FASCO|
Hill Refrigeration Inter City
MARS MFG. RPM/ DIMENSIONS R MARS MFG. RPM/ DIMENSIONS
NO. NO, HPVOLTS ‘oo’ ROTAMPS M0 2 NO.  No. HP VOLTS ‘oo ROT AMPS B e
05095 5KSMBTFFL0036 5W 115  1550/1 gng 045 050 2.50 - AM74 - 1100 115 23501 CW 080 - - -
?ergggddlsirgf.t’ totally enclosed, 3 tapped holes, shaded pole,1/4 inch 3.3 inch, Shaded pole, sleeve bearing
Replaces: 5KSP51AL486H, 5KSM5TAG3005, Hill No. PP7577 : i
Also Replaces: 5KSP51AL380H used by WARREN L) Replaces: 7021-9188, 1010239 FASCO
Hussman Inter City
MARS MFG. RPM/ DIMENSIONS _ MARS MFG. ] DIMENSIONS
NO. NO, HPVOLTS ‘oo’ ROTAMPS =02 No.  No. HP VOLTS ‘<ot ROT AMPS 0= >
00091 RS4BEBY9E13 9W 115  1660/1 gng 028 039 256 - A302 - 125 115 30601 CW 15 - - -
) 3.43inch diam., enclosed, end or side pad mounting, capacitor mounted ) )
/ inside shell, water resistant 3.3 inch, Shaded pole, sleeve bearing
Replaces: RS4BEB9E16, RS4BEBIE12 Replaces: 7021-9499, 1010324P, 7021-7700, 1708-607
Hussman Janitrol
MARS MFG. RPM/ DIMENSIONS MARS MFG. RPM/ DIMENSIONS
NO. NO. HPVOLTS ‘oo’ ROTAMPS hxs M wp vours RPW' Ror AMps SO
03012 SKCPI9GGSEOS 115 S 10751 ol 17 250 480 - AO79 - 150 115 30001 CCW 14 - - 050
5.5 inch diam., shell enclosed, thru bolt mount, capacitor included 3.3 inch, Shaded pole, sleeve bearing
. Replaces: 74-70-21504-03-04, 74-70-21496-03-01,
Replaces: SKCP39GGASTT =genteq JAIM106, JAIM137, 7021-5615, 7021-6804 B2SEC
IEC Keeprite
MARS MFG. RPM/ DIMENSIONS MARS MFG. RPM/ DIMENSIONS
No: N VoLTS ‘oo ROT AMPS B ¢ NO.  No. HP VOLTS ‘<ot ROT AMPS W= >R
1/6-1/12- 208 -
D1059 - p 7 115127 14503 DS 23 875 333 0.50 D121 - 120 5y 18501 CW 10 250 350 031
5 inch, PSC, sleeve bearing \ 3.3 inch, Shaded pole, sleeve bearing, 5/16 inch dia. shaft
Replaces: 5KCP29DK8384S, $89208 Replaces: 7163-8861, 1043766 FASCO|
Inter City Kelvinator
MARS MFG. ] DIMENSIONS MARS MFG. RPM/ DIMENSIONS
No. No HP VOLTS ‘oo’ ROT AMPS B o NO. s HP VOLTS 'cor’ ROTAMPS -
AM71 - 125 115 34501 CCW 070 - - - 00152 ESP-OL15EMJR11 15W 115 1500/1 %%VEV 060 7.00 317 -
) . : 3 7/8 inch diam., enclosed, 3 tapped holes or side pad mount, shaded pole,
3.3inch, PSC, ball bearing / 5/16 inch diam. flatted shaft
Replaces: 7062-4783, 1011412 FASCO Replaces: Kelvinator No. 24-0366 ESP-L15EMJR11 .
Inter City Krack Refrigeration
MARS MFG. ] DIMENSIONS MARS MFG. RPM/ DIMENSIONS
NO. No. HP VOLTS ‘co' ROT AMPS No. No. HP VOLTS TP ROT AMPS DoAY
A2 - 135 115 30001 CW 16 o8y - 120 2% s ow (% 163 313 031
Shaded pole, ball bearing 3.3 inch, Shaded pole, ball bearing, 5/16 inch dia. shaft
Replaces: 11528, 11529, JB2P046N, JA2P216N, JAZP2T7N,
Replaces: 7002-2792, 1010975P [FASCO JB;P047N, 8354110040, 8254111030
/N WARNING: g
Cancer and Reproductive Harm TO” Free (800) 445'4155 M FaX (631) 348'7160 !Z?C’l Z R‘J
www.P85Warnings.ca.gov www.marsdelivers.com BB oo




